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6 H1 5 H B Bl &2 fF 4| 6,686,000 6,693,381 6,693,381 0 0| 100.0
7|V T G R B AE AT 4 100,000 86,807 86,807 0 0 100.0
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12 |52 38 22 4 6 5% 1 Bl A8 A5 4 62,824 58,056 58,056 0 0| 100.0
135 1 & & OV & #H & 1,624,372 1,612,083 1,364,242 13,195 234,646 84.6
4 B OB & OV F BB 1,896,031 2,005,486 1,816,377 5,759 183,350 90.6
15 B X% W 4| 20,325,865 | 17,797,350 | 17,750,891 0 46,459 99.7
16 | B 53 H 4| 7,697,026 6,478,569 6,281,949 0 196,620 97.0
17 | PE Iz A 674,924 823,692 742,324 0 81,368 90.1
18 | % 5} 4 176,724 176,996 172,859 0 4,137 97.7
19 |#d A 4 9,330,771 8,988,127 8,988,127 0 0| 100.0
20 |#4 el 4| 2,686,143 2,686,143 2,686,143 0 0| 100.0
21 |F I Al 5,342,262 5,162,592 3,569,233 13,690 | 1,579,669 69.1
22 | f&| 9,001,700 5,027,700 2,338,700 0| 2,689,000 46.5
= # 139,890,565 | 134,351,062 | 125,651,964 150,605 | 8,548,493 93.5

il FEREREVFHH Z0Hh
1.9% 1.5% 4.9%
i

X1 URAFZEDERLE




BRI

L

— R ES AT REED50.7%% 5D DT FLOIN A EAEIL ., 693(81,516 5 F T, s EFET29E
6,636 5 FIZxLC95.0%., FHAETO8(E 7,940 7 FIIZHIL TI7.8% 72> T A,
K20 L0, Bl B BIOUIAGRILL, T ERFLEE EE FERL TRl 2R D84.0% ., &R HFHHEHL, F

FEFTRL, 72X BLT14.8%., DM 1.2% DEIE 72> T D,

BRI TR AR (B Fi24E3 A 31 H BL7E)

(BAL: TH, %)

B 5 B X HE%E UL AERA | A B4R | I AR AE | ISR
(a) (b) (c) (d) (b-c=d) |[(c/b)
1| E il 31,836,472 | 33,080,139 | 30,299,542 89,765 | 2,690,832 | 91.6
2 FooE pE Bl 28,001,749 | 28,604,782 | 27,936,229 20,804 647,749 | 97.7
3 | B # H OB 847,799 898,734 858,082 3,552 37,100 | 95.5
4 |t 7= 1 = Bi| 2,182,967 | 2,188,926 | 2,188,908 0 18| 100.0
5 |9k i Bl 592 621 621 0 0| 100.0
6 |A 5 izl 540 530 530 0 0| 100.0
7 |F E Br Bi| 2,856,804 | 2,925,312 | 2,887,618 0 37,694 | 98.7
8 |# W E m Bi| 5,152,473 | 5,267,319 | 5,143,628 3,840 119,851 | 97.7
& 2t 70,879,396 | 72,966,363 | 69,315,158 117,961 | 3,533,244 95.0
mREF | 43.7%
EEEER | 40.3%
gistEs: I 7.4%
=% g | 4.29%
hf=IEZH 3.2%
ZDith 1.2%
0.0% 10.0% 20.0% 30.0% 40.0% 50.0%

M2 hHARAFLEDHERL




@ = H

— i Eh T SRR, 398(89,056 7 ISR L, S HHARLL 0T 1{ES, 78177 I THUTHRIZ

76.6% T D,

SHFHORALLI, 3D LB THD,

%

TR E — iR e I TR (B 2453 H 31 H HifE)

(HAZ: TH, %)

B\ THEAE X TR | BITE | R
(a) (b) a-b) (b/a) | lZxt32%E&
1 |5 = 2 689,043 679,698 9,345 98.6 0.6
2 ¥ % # 12,167,059 7,431,047 4,736,012 61.1 6.9
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